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Will she not be divorced even here?! — TRTAA K97 1 NOT

OVERVIEW

X1°27 said to WX 17 according to X271 who maintains that a N3%7» J¥1 is not
7P, it would come out that if a man threw a v to his wife and it landed in
(her lap or) her weaving basket, that she would not be divorced, since it is a
no%nn axn. It is evident that X127 (and >wX 27 both) assumed that she will
certainly be nw 132 in such a case. N190IN discusses why they assumed so.

— VN NNYP PINY DT 1INT NN WA ¥
>'"w9 explained the reason WX 271 X1°27 were certain that if he threw a va
into her basket she is nw™x for we learnt it in a mwn; ‘if he threw the v
into her 71n%p she is divorced.’

mooIn challenges s""wA interpretation:
— *nmana P NI

And this proof is astonishing! The 71wn can be established where she was
tied up, so she is not a n3%mn 7.

MmooIn answers for >"'wA:
— PN YD AN NIYY

And perhaps they felt it was awkward to interpret the 71wn in such an unusual
case.

mooIn offers an alternate explanation:
$NIYM NN NI NIP2DN T49979 7599 NI2D1I XN ) ON

Or you may also say, X127 challenged the ruling of X237 based on logic,
Just as °"717279M 9"1 challenged 829 from the case a ship (based on logic),
but not based on a .

SUMMARY
We assume that 7n%p 7107 P97 is nww based on a mwn, or based on logic.

THINKING IT OVER
What indeed is the X120 that 7n%p 0% P71 is surely nwan (and similarly by
7100 that it is 71p)?°

! R,7¥ 1A, (Others amend this to read '1an'.)
% x27 ruled that by m3 a person or animal is not considered a n2%» J%7.
? See Iymw Pan.
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